1ERA

LDV E LD T, TRRDOEBVFTIEWLET, (FHHED)

<KL >
OP7 %8 FABARBMICEYTHILE2HALTHLEDOMNERISEE
BIZE D DDA
(IF)
TERERICES () BHEGEEE ()
ENEE R URIEC
3, 292 33

F15 FEANCETSIES 2, 507 (76.2) 23 (84. 8)
B1ED2 EXNTEHRS 2 {0.1) 0 0.0)
F2E EAFCETLEH 1,840 (55.9) 5 (15. 2)
e Fam FEE ErEcBT b 121 3.7 0 0.0
B4 FEILIEECHTLES 856 (26. ) 4 {12. 1}
4 EoZeBIET o FH 6 0.2 0 (0.0
T ORI T DR 54 {1.8) 0 0.0
A Bethe Lk 828 (25.2) 4 (12.1)

(FR)

TETERIzEYS (=) FEGEET ()
TRTEHROR 5
3,292 33

#15 BEAEETHEHR 2,507 {72.7) 28 (84.8)
F1=02 FEERIINTHEHE 2 0.1 0 (0. 0)
F2rm HBABLETLER 1,840 {55.9) 5 (15.2)
e Fas BE EECBEYLFH 121 (3.7 a 0.0
FAE BELISBECETOESR 856 {35. 1) 4 (12. D
A EnzemclyomEs | 6 .1 SUr N 0 00}
N e e = N L — g 0
A B B 823 {33.0) 4 (14.3)




